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QUESTION 1

What are the three rules for Shared Members in ASO? 

A. A Multiple Hierarchy Enabled dimension can have shared members. 

B. When a hierarchy is tagged Multiple Hierarchies Enabled, it must be store. 

C. The alternate hierarchy has shared members that refer to nonshared members of previous hierarchies in the outline. 

D. The shared members roll up according to a different hierarchy from the nonshared members to which they refer. 

Correct Answer: ACD 

Shared member hierarchy is also an alternate hierarchy. All shared member refers to stored members of outline (C). In
aggregate storage application only multiple hierarchies can have shared members. (A) 

Stored hierarchy has only addition as consolidation operator. You can use the stored hierarchy type where aggregation
is the only mathematical requirement. If you have some shared member in hierarchy then use multiple hierarchy. 

 

QUESTION 2

Fragmentation has a number of potential causes. Identify two. 

A. Deleting member from a sparse dim 

B. Deleting member from a dense dim 

C. Renaming a member 

D. Renaming an alias 

E. Submitting data/deleting data frequently (like in budget applications) 

Correct Answer: BE 

Fragmentation is unused disk space. Fragmentation is created when Essbase writes a data block to a new location on
disk and leaves unused space in the former location of the data block. Block size increases because data from a data
load or calculation is appended to the blocks; the blocks must therefore be written to the end of a data file." 

Fragmentation is likely to occur with the following: 

Read/write databases that users are constantly updating with data (E) Databases that execute calculations around the
clock Databases that frequently update and recalculate dense members (B) Data loads that are poorly designed
Databases that contain a significant number of Dynamic Calc and Store members Databases that use an isolation level
of uncommitted access with commit block set to zero 

You can prevent and remove fragmentation: To prevent fragmentation, optimize data loads by sorting load records
based upon sparse dimension members Perform an export of the database, delete all data in the database with
CLEARDATA, and reload the export file Force a dense restructure of the database 

Reference Improving Essbase Performance, Eliminating Fragmentation 
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QUESTION 3

Assuming Sales and Year are sparse and Actual is dense, what two actions will the following calc script perform? 

FIX (Actual, @CY, Sales) DATAEXPORT "BINFILE" "data.txt"; ENDFIX 

A. Export the data for actual, current year, sales into a text file called data.txt 

B. Export the data for actual, current year into a text file called data.txt 

C. Export data blocks in a compressed encrypted format 

D. Create a text file that can be imported using the DATAIMPORTBIN calc command in another database that has
different dimensionality 

Correct Answer: AC 

The FIX...ENDFIX command block restricts database calculations to a subset of the database. All commands nested
between the FIX and ENDFIX statements are restricted to the specified database subset. 

Syntax: 

FIX (fixMbrs)COMMANDS ;ENDFIX 

fixMbrs: A member name or list of members from any number of database dimensions. 

DATAEXPORT writes data to a text file, binary file, or as direct input to a relational file using ODBC. The data blocks will
be saved in a compressed encrypted format to a text file. For a binary output file:DATAEXPORT "Binfile" "fileName" 

 

QUESTION 4

Identify the three invalid methods to back up ASO database. 

A. MaxL alter database commands 

B. Esscmd BEGINARCHIVE / ENDARCHIVE 

C. Backup and Recovery features introduced In version 11 

D. Operating System backup 

Correct Answer: ACD 

A: the MaxL statement alter database begin archive do not support aggregate storage databases. 

D: Operating System backup cannot backup the ASO database. 

 

QUESTION 5

Given the following information, how many potential blocks? 
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A. 100 

B. 70 

C. 560 

D. 350 

E. 400 

F. 50 

Correct Answer: F 

Potential number of blocks: Indicates the maximum possible number of blocks that can exist for the database. The
number is derived by multiplying the number of stored members in each sparse dimension. 

In this scenario we get: 10 x 5 = 50 

 

QUESTION 6

Which four are the directories used for aggregate storage databases? 

A. Default 

B. Log 

C. Metadata 

D. Data 

E. Bin 

F. Temp 

Correct Answer: ABCF 

ASO (Aggregate storage option): 

*

 Directory structure differs in both content and purpose from BSO 

*

 Tablespaces are utilized to store data and metadata ** Default stores numeric data (.dat file) ** Log records database
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activity ** Metadata stores metadata information about the objects in the database ** Temp temporary working space for
the Essbase kernel 

 

QUESTION 7

Identify the four true statements about attribute dimensions 

A. Attributes allow cross tab reports with other dims 

B. Attributes are assigned to dense dimensions 

C. Attributes are stored 

D. Attributes are dynamically calculated 

E. Security can be assigned by attribute dimension 

F. Even though ASO databases allow many dimensions, attribute dimensions are still available and used in aggregate
storage option databases 

Correct Answer: ADEF 

An attribute dimension is a special type of dimension that is associated with a standard dimensions. Use attribute
dimensions to report and aggregate data based on characteristics of standard dimensions. 

Essbase does not allocate storage for attribute dimension member (not C). Instead, it dynamically calculates the
members when the user requests data associated with them (D). Attribute dimensions are always sparse
dimensions(not B). 

And you can associate attribute dimensions only with sparse standard dimensions 

A, D, F: 

 

QUESTION 8

What are five reasons to use Attributes over a Shared Members dimension? 

A. To create crosstab reports 
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B. To describe a dense dimension 

C. To describe a sparse dimension 

D. To perform comparisons based on certain type of data 

E. To perform calculations based on characteristics 

F. To add dimensionality to the database without increasing database size 

Correct Answer: ACDEF 

C: Attribute dimensions can only be applied to sparse dimensions. 

F: Varying attributes let you vary information in one dimension by up to four additional dimensions. A, D, E: 

Incorrect answer: 

B: Attribute dimensions can only be applied to sparse dimensions. 

 

QUESTION 9

Given the following information, what is the block size? 

A. 400 KB 

B. 400 Bytes 

C. 1056 KB 

D. 50 Bytes 
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E. 1056 Bytes 

F. 50 KB 

G. 70 KB 

Correct Answer: B 

We need to multiple the stored (not the total) members of the dense dimensions (here Accounts: 10, Time:5) with 8 to
calculate the block size. Block size: 10 x 5 x 8 = 400 

Note: Data block size is determined by the amount of data in particular combination of dense dimensions. For ex: when
you change the dense or sparse configuration of one or more dimensions in the database, the data block size changes.
Data block size is 8n bytes, where n is the number of cells that exist (ie. Stored, not total) for that combination of dense
dimensions.Note: Optimal range is 8 to 100 kb 

 

QUESTION 10

Moving a stored entity member in a sparse dimension causes_________. 

A. a Full restructure 

B. an Index restructure 

C. an Outline restructure 

D. No restructure 

Correct Answer: B 

If a member of a sparse dimension is moved, deleted, or added, Essbase restructures the index and creates new index
files. Restructuring the index is relatively fast; the time required depends on the index size. 

 

QUESTION 11

A calculation script is performed on a database for which Create Block on Equation is OFF. The command SET
CREATEBLOCKONEQ ON is issued immediately before an equation in the script. Which statement accurately describe
when blocks will be created? 

A. Blocks will be created ONLY when the equation assigns non-constant values to members of a sparse dimension 

B. Blocks will be created ONLY when the equation assigns constant values to members of a sparse dimension 

C. Blocks will be created when the equation assigns either constant or non-constant values to members of a sparse
dimension. 

D. No blocks will be created. 

Correct Answer: C 

C: Blocks are always (whether or not CREATEBLOCKONEQ is ON or OFF) created when a constant value is assigned
to a member of a sparse dimension (for which a block does not exist). When SET CREATEBLOCKONEQ ON blocks will
also be created when an non-constant value is assigned to a member of a sparse dimension (for which a block does not
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exist) in a new block. 

Note: If this would be a select two alternative question, the alternatives would have to be reworded slightly differently. 

Note #1: 

The SET CREATEBLOCKONEQ command controls, within a calculation script, whether or not new blocks are created
when a calculation formula assigns anything other than a constant to a member of a sparse dimension. SET 

CREATEBLOCKONEQ overrides the Create Block on Equation setting for the database. 

Syntax: SET CREATEBLOCKONEQ ON|OFF; 

ON: When a calculation formula assigns a non-constant value to a member of a sparse dimension for which a block
does not exist, Analytic Services creates a new block. 

Note #2: The Create Blocks on Equation setting is a database property. The initial value for the Create Blocks on
Equation setting is OFF; no new blocks are created when something other than a constant is assigned to a sparse
dimension 

member. You can use Administration Services or MaxL to set the Create Blocks on Equation setting to ON at the
database-level. For more information about enabling the Create Blocks on Equation property for a database, see MaxL 

documentation in the Technical Reference or Administration Services online help. 

For more specific control, you can use the SET CREATEBLOCKONEQ calculation command within a calculation script
to control creation of new blocks at the time the command is encountered in the script. Use of the SET 

CREATEBLOCKONEQ calculation command has the following characteristics: 

*

 When Analytic Services encounters a SET CREATEBLOCKONEQ command within a calculation script, Analytic
Services ignores the database-level setting. 

*

 Where needed in the calculation script, you can use multiple SET CREATEBLOCKONEQ commands to define the
Create Blocks on Equation setting value for the calculations that follow each command. 

*

 The value set by the SET CREATEBLOCKONEQ command stays in affect until the next SET CREATEBLOCKONEQ
command is processed or the calculation script is finished. 

 

QUESTION 12

Which six files are involved in database recovery for block storage option after a database crash? 

A. Essn.pag data 

B. Essn.ind index 

C. Essn.dat 
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D. Temp.dat 

E. Dbname.esm - kernel file that contains control information for db recovery 

F. Dbname.tct - transaction control table 

G. Dbname.ind - free fragment file for data and index free fragments 

H. DBname.otl 

I. Metadata folder 

Correct Answer: ABEFGH 

If there is a problem with any one of these essential database files, the entire database becomes corrupted and
Essbase Server cannot start the database: 

*

 essn.pag (A) 

*

 essn.ind (B) 

*

 dbname.esm (E) 

*

 dbname.tct (F) 

*

 dbname.ind (G) 

*

 dbname.otl (for block storage databases) (H): Outline file, which stores all metadata for a database and defines how
data is stored, but does not store data itself 

To restore the database, delete these file, restart the database, and reload from data files or from export files backed up
before the corruption. 
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